32-In the given figure, PQR is a
guadrant whose radius is 7cm. A
circle is inscribed in the
guadrant as shown in the figure.
What is the area of the circle?

v & 7€ Py #F ParR TF Fu-

s %’ g BT 7em %

Javev=7 R Sk #r amsfa ¥ gefar ar

=>{=1—-‘-7<~E—\> sifva Trar o & gw &
J2+) ATE T &2
a) 385 — 2212

Aveg < \5"\»\(\\3—\3: |54 (3—2 ) i S

c) 154 — 772

=M62-308 % A 462 — 308V2
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33.In the given figure, PQRS is a

rectangle and a semicircle with SR as
diameter is drawn. A circle is drawn
as shown in the figure. If QR= 7cm,
then what is the radius (in cm) of the
small circle?

& 7§ wHfy #, PaRs TE AT ¥
dYuT SR UM el TS e
qarar aar g oEr R osmsfa &
e s ¥ fF ve ga @@
AT 3] I QR = 7em &, @Y B
gaq @ BT (cm #) F4T 87

a) 21 + 14+/2

21 -14v2

c)both 21 + 14+/2 and 21 — 142
d) None of the these
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2y, ABCD is a square in which a circle is
inscribed touching all the sides of
square. In the four corners of square 4
smaller circles of equal radii are drawn
containing maximum possible area.
What is the ratio of the area of larger
circle to that of sum of the areas of
four smaller circles?

ABCD T T § Owd ww 3NWFax
¥HT &G 1 ga 3ifhad § IR Fr &
FAFTH GHT AAFT F gd TAF AT §
9 g9 & &%a IR AR OR I &
m%mwmmm%?

1: (68 — 48/2)
b) 1: 17V2
c)3:(34 — 12V2)

d) None of these

J2ReRtvifzy
K(ﬁ,.):v(fzﬂ)
>R (=2+)




35. Two straight line AB and AC include an
angle A. A circle is drawn in this angle
which touches both these lines. One more
circle is drawn which touches both these
lines as well as the previous circle. If the
area of the bigger circle is 9 times the area
of the smaller circle, then what must be
the angle A?

ar Welt Y@t A AR Ac F T
HIT A | 59 T F TF o q&l1 ¢ ST
grel Y@t # gar g & HR g qar

a

3 {:@“ Tod, 113 ¥ S e YEmt ik R a
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2¢. A= area of the largest circle drawn inside a square of
side 1 cm. Al —> H;%;C:D)

B=Sum of areas of 4 identical (largest possible) circles
drawn inside a square of side 1 cm.

C= Sum of areas of 9 identical circle ( largest possible)
drawn inside a square of side 1 cm.

D= Sum of area of 16 identical circles( largest

' possible) drawn inside a square of side 1cm.
\ ‘ A_1cmagmmﬁaﬁ#ma?a?rma%m|
B= 1cmmmaﬁ#4ma?ﬂ(ma%
( a) F HTEA HT A

O C= 1 cm ¥ aTr 391 # 9 FATT Jal ( HeH a3

re ' wf)$ m:ra?rwalﬂs ganwey a3
D=1 cm ¥HT JHADYT

) @ Q HT) & A% FT Q]

a) A>B>C>D b)A<B<C<D
c)A>B=C>D _#£HNo option is correct
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F Y X 3%.In the figure, radius of a circle

\o\g’" o is 14+/2cm. PQRS is a square.

P Q EFGH, ABCD, WXYZ and

Iz J 7 Y LMNO are four identical

v squares. What is the total area

- |Q6+‘4az+'56a \y (in cm?) of all the small

ke | |0 DR Ea sauares

g U [2&” smefa #, ww ga f B

2504564 D C\\\ H G 14/Zcm &, PQRS TF Tt B

—194< EFGH, ABCD, WXYZ dd91

S =0 L M LMNO 4R WA J g

M Pyeg S - R st srR Ff F Fa
—‘5-& My o =81 TP (cm? H) F4T ¥ °

O N 28 %,ya3136 125.44
< 6272 41568

L/
Q: 5XI ,bq Q =23 S S
=1 0 =313¢ el
Q5 28 .
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ae= ACHBC™
») (1217\/{.24{— Yra +¢*

= &= 64y

=Y
6 |6.66 /.







3%-In the given figure, ABCD and
c PQRS are squares. BAC and
ABD are quadrants. If AB =
10 cm then find the area of
the shaded region.

,D
)6’0/1'7(-'7'0"

t1g0+4C & =Y amkfa &, ABcD 3T
-Yox PQRS av‘ra%g B§C 3R ABD
=>g.2 gd & uquter g I AB =
~ 51(7,_ 60% Hlav= 10cm § o smifra smr
=) X2t 42020 F1 TR AT
a) 64cm? %f)'¢36cm2
1= 10, 2_ A" ¢ P Q x_ B c) 49cm? d) 25cm?

X\/’




39. The given figure contains a
circle, a semi-circle and a
quadrant. Find the area of
the shaded region if the
radius of the circle is 1 cm.
a1 A JPA A, & 4,
tF H-gd IR vE ga-
aqafer 8| 3R gd A
BT 1com %, ar
SHIfhd AT HT &6

| | 12



a4 1

Yo.In a right angled AABC, the area of the
square drawn on hypotenuse AC as a
side is 128 cm?, What is the sum of the

a of semicircles drawn on AB and BC
diameters.

TH WARIUT TA3T ABC A 3T AC W
o TS g FT &9%d 128 cm? &, AB
I AC B I AFH TR AT
dgdl & &AWl F A3 fFaer
g1 30X ABC T WHHIT efat
3 Ac sHFT FoT &2

a) 32 w cm? %6 T cm?

c) 64w cm? d) 128 cm?










Yl-In the given figure, three
> semicircles are drawn on three

@ sides of triangle ABC. AB =
. - 21lcm and BC = 28cm .
What is the area (in cm?) of

35 ] the shaded part?
v _ & 71§ mpfa A, Beger Asc
eA # A semt W 3 A
A A0 ¥ AB = 21cm
duT BC = 28cm | orfed
q& HIT & &6 (cm? #) F4T

| SSC CGL T2 19 Feb 2018 | 16



Y2-The given figure contains a
square, a circle and four semi-
circles. If the side of the square
ABCD is 10 cm. Find area of
the shaded region?

ar ol arpfa 7 v T,
ga 3k IR aga 3 afe
& ABCD # aﬁn 10 cm &,
a SEifFd ST T aTed
= AT

100 b) 50
c) 75 d)120
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